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MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1) When bleeding wheel brakes, the bleeder screw is usually loosened one-half turn.
A) True
B) False

1)

2) Vacuum bleeding requires ________.
A) metering valve override
B) a suction pump
C) both A and B
D) neither A nor B

2)

3) Technician A says that the brake pedal should be depressed with as much force as possible
during the normal bleeding procedure. Technician B says that the brake pedal should be
pumped rapidly during this manual bleeding procedure to force the air down toward the
bleeder valve(s). Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

3)

4) The brake bleeding procedure usually specified for a rear-wheel drive vehicle with a dual split
master cylinder is ________.

A) RR, LR, RF, LF
B) LF, RF, LR, RR
C) RF, LR, LF, RR
D) LR, RR, LF, RF

4)

5) Vacuum is applied where during vacuum bleeding?
A) At each wheel brake bleeder valve
B) At the master cylinder reservoir
C) At the vacuum booster check valve
D) At the metering valve end of the combination valve

5)

6) How does a bleeder valve seal?
A) O-ring
B) By the threads
C) Lip seal
D) Tapered end

6)

7) Manual brake bleeding ________.
A) requires two people
B) is most commonly used
C) is the least expensive method
D) all of the above

7)
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8) In an overall bleeding sequence, which part should be bled first?
A) Wheel cylinders
B) Brake calipers
C) Master cylinder
D) Combination valve

8)

9) The button on the ________ valve should be held when pressure bleeding the brakes.
A) metering
B) proportioning
C) pressure-differential
D) residual check

9)

10) Two technicians are discussing bench bleeding a master cylinder. Technician A says that the
front (nose end) of the master cylinder should be bled first. Technician B says that rear (brake
pedal end) should be bled first. Which technician is correct?

A) Technician A only
B) Technician B only
C) Both technicians
D) Neither technician

10)
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